Warm Up 11/5/18
1. For f(x) = 4x - 7, what is the average rate of change
for-3<x<2 (-3 -I) (2’8
F(-2)= 4 (—5):']'; _1H9_z. @
£(2)= 47 = 213

2. Compare the slope of f(x)=-1/4(8x - 10) to the table
below, what kind of slo e do each have?

x [31aTi3's 9= =5 (8x-10)

s 8 GLo )= -2x15

3. Write the equation of the line that passes thmugﬂ (5, 2)
and (13, 18) b/

m=g-2 _ lo
R
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Finding Slope Application:

1. l@ moviecost anc@cost

would one movie ticket cost?

(3,20.28) 43.75-2625_
2. Ifl paiin 2'085 for my c;r bgﬁ

and in 2840 1t is wortl.ﬂ@\)vhat is the yearly
depreciaﬁon?

(0, 750) D000 _ 12500

(5, Sooa) S-o & S
f sl 2 e
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In 7999, the average cost of a new house was
$123,000. By the year , the average cost of new
house was $134, 150. Write a linear equation to
represent this situation.

(0,123p00) 12HISO 123000_“150 N

=I5 per
]JO~-0D
('O’ BL”SD) 5-—\\\57K+I’23000 5

4. In T99-5-the average price of movie ticket wag($
In 28R the average cost a movie ticket is($10. 00! \)Urlte
an§f equation to represent this situation.

(0;5) lO"'S

(15,100 15-0 75 =035

[ OF3nas\




A company has monthly expenses represented by the
functionfc(x) = 2x + 1,200 whereimfpms_ﬂﬁ number
of items p%r aucea‘ If the companyast month,
how many items were produce? e
H4oOo
C(R) =2%+1200
THemS
2000 = 23} 200
— [2co el VA ) —=4{oD
A= 8'00 /o)

! e average price of a movie tlcket in the year2069 was
the approximate price of a movie ticket in the year 20092

(0,539 ©2-539_ 82__02 =

(4) © ZD 4-0 Lf
U= 021K Fo. 50

3728 in 209







Identifying the meaning of slope and y-intercept

8

Nir. Hanson recorded the typing speeds (in words per minute) of 25
students_and their weeks of experience. The line of best fit for the

data is—& = 4.4x + 18.9} wheré[x[is the[number of weefs\of experience

of a student anc@is the student sttyping speed| What is the meaning
of the y-intercept for this set of data?

A. the average typing speed of the students (O ) )g?)

B. the highest typing speed recorded

C. the improvement in typing speed per week for the average
student

the typing speed of a student with no experience



Identifying the linear equation:

9. A computer is purchased for $1,200 and depreciates at $140

per year. Which linear equation represents the value, V, of the
computer after t years?

527 et B s

o= 200

~P—— = 140266

10. Martha has $180. She needs a total of $2,000 to start an
gccQunt. She earns [§60 per day working, of which she saves
Which equation can she use to determine the number

of days, a, she needs towork to reach her goal of $2,000?

A. 2,000 = 60d + 180 Y I"'"'5O

B. 2,000 = 60d - 180 b
(©) 2.000 = 504 + 180 - I8O
D. 2,000 = 50d- 180




